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IKCNAMKALLMA MOMELLLEHMM AO MOHTOXA
(1 a1OXK)

Ne Nma MAOLLLOAL,M?

1 |Mpuxoxas 19.08

2 |NomelteHme 1 5.78

3 |KoTeAbHas 4.42

4 |MNomeLenne 2 7.12

S5 | Xoaa 35.87

6 |MNMomeLeHne 3 5.40

7 | CaHnysea 5.11

8 |MNMomelueHne 4 21.20

8 |CaHysea 3.31

9 |lMomeLuenume 5 19.73

10 |MomelleHue 6 4.10

11 |NomeLeHne 7 3.48

12 |NomeLeHme 8 75.06

13 |Tapax 49 .91
OO6LLCS NMAOLLLOAb 259.59
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SKCMAMKALMA MOMELLLEHMIM AO MOHTAXKO
(2 aTOXK)

Ne Nms MAOLLLOAL,M?

14 | XoAA 34.67

15 |MomelleHune 9 24.28

16 |CaHysea 10.73

17 |NMomelueHne 10 7.98

18 |MomewieHue 11 5.40

19 |CaHysea 5.50

20 |MomeleHme 12 21.20

21 |MNMomelueHne 13 19.73

22 |MNMomeluenne 14 491

23 |CaHysea 491

24 |NMomelluenme 15 75.65
O6BLLas MAOLLLOAb 214.97
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